TRUEE HotnKEREEL

MEAME EREMRLE

(RFHKET MDD  #A)

# =2 F B B

TR 24 £ OR

RO KR BT oKk & &



IEZ PE 100 BKEHBIE
REEE
PE
¢ 100 L= 351.3+239.2+74.6+222.2 = 887.3m
% F5
Fetk - <t i% it E = B i = &t
E M
KEHERERARIIFLUE L
ZONEE ¢100x5.0m Li= 879.310 176 &=
~EFVAyl
100 8 + 2 GREBTMES) 83
EFFELTa—t— Bk
$ 100 % 75 0.420 Li=  0.420 13
_ EFESAUE | BEE
@ 100 x 45° 0.380 Li= 1.900 53
 EFA®AUR HEuE
@ 100 X 45° 0.490 L1= 1.470 30
- EFF—RX(FKEWMZ) BEE
® 100 % 75 0.140 Li=  0.280 23
PEFOEMETEE | BEuE
(TS5 100 % 75 0.795 Li= 1.590 23
PEFEOMY IR —ILF | HuE
¢ 100 0.865 L2= 2.595 3 &
C_Bn=SRF(Z) |
@ 20 2 &
L TER |
& 75 % 150H 2 &




% 5

Ak ik g = R H = 5
__DFOSUUEE
b 75 % 150L 2 3
IS TUHMEM
$75 6 #5
| EEEPVOasU AR
b 100 % 75 13
H£HERYIR |
D24FkE T 33
_ HEPHRYSX
25B20 33
TOHARYIR
25C30 33
EEr)
60 3 #A
- HORZESHRVIA
D35 x 458514 2 0
HORAZAHFRYIX
B20 20
HEOHZSEHFRYIR |
C 23
_________ _ARI7
80 2 £




% L

Tk - <1k & g = B g E2Y B
5 B
- RUIFLUERMAT
$ 100 TLi= 884.970 885.0 m
i PERLEEST | S Mi45° T
203100 8 5 2 15 &F
__PEREERET B LizY- F45°
{(18) ¢ 100 176 1 3 180 B Fk
_ HUFHSRET
$ 100 3 &
. PESRSREMFET | PV
$ 100 1 10
A AILERET PV
@75 1 10
T TEBFT
®75 40
 HUIRSRET
@100 I E
- BHOEFHFRET
$ 20 2 K
 EERHRysX
H=900 (35 = 700) 3 B
ESHRYIR
H=900 (7%= 600) 2 (&R
i iR A
=TS 4 = H 887.3 m
_ EHERTY
W=50mm 8873 m
HIKEBET
887.3 m
RETET ]
AER 3.0 m




% i

Rk ik

H g 2

a

T T

. 1 -
HIiEAs & 100 H=0.90

351.3+239.2+74.6+88.7+130.0

883.8 m

4
BT3EAs @100 H=1.70

3.0

3.0 m




YIETE 100 PE

2 Fd gmgﬁfﬂ pEEE | BEE | &
1.410 0. 500 0. 900 0.730 1. 390 4. 930 0. 070 1
2. 590 0. 830 0.810 0. 750 4. 980 0. 020 1
3.930 1. 000 4. 930 0. 070 1
3.590 1. 000 4. 590 0. 410 1
0. 640 4. 240 4. 880 0.120 1

70+47+14+17+22+1 N= IWAEN 855. 000 171
879.310 0. 690 176




+TgEE

1 1=883.8m| 4 L=3.0m
W=0.50m W=0.65m
s __H Wk (B seuy] B = |weeyl B 5 |wewy| W = |wpsy] B 8 (seey] B = lswwy = it Ol EE
As
FAETIER T |t=10em=E | m [ 2.0000 176760 2.000! 6.00f YT 1773.60 1770
Co
SMEYEHT letomkxre| m [ 1 [TV T
As
SHEEEEEL T t=5¢m m2 | 0.500! 447.90] 0.650 1.85 { 44385 444
As ! o o
SEEIRLT t=4em m2 v
Co
FHEEEELT t=10em | me ["TTTTTTITTTTTTT T T —
HHIEET m3 [0.535]  472.83] 1.216 3.65 476.48 480
ABiEEIT m3
MNAEHLT m2 | 0.500 441.9] 0650 1.95 o T 443.85 440
BE | ! _ ]
B E I 55990=30 1 m3 | 0.075 66.29] 0.098 0.29 66.58 67
FaEL | m3 702500 270.95| 6.845 254 T T 223 49 220
& m3 [ 01491 131.68] 0.187 0.59 r 132.98 130
AS K o e e e s e e s e s e e e s e s s s o e s S . e e i _______J: _______
BRIBLET m3 | 0.025 27 1| 0.033 0.1 22.20 22
Co
BIRAET m3 | T UTTTTYTTTTRYT T i
AIET m3 | 0.2851  251.88] 0.371 117 T 252.99 250
ZHiAS [ I N S WURUIN S A S
HEREET t=5em m2
ﬁ%ﬁAs [
HeEREIRT t=4em | m2 | 0.500 447.9] 0.650 1.95 ' 443.85 444
FiR iR
BREET t=11cm | m2 | 0500} _ 441.90] 0.650 1.95 44385 444
BieAmAa H e
BT t=15cm m?2 i !
W=0.65m , { B
AEFELET | 1=210m | m 1000 3.00 : ; 3.00 3




ITE4 PE ¢75 BEKEHGHRLE
EEER
PE
¢ 75 L= 54+0.3+2.0+70 = 14.7m
B 7
etk ik By - # & E = &t
_E # ]
KERMERAR)TFLUE RIFELIETERE S R
ZOMEE ¢75%x5.0m Li=  10.120 2 &
KEHMERER)IFLUE AFEYIER R E SR
JLIUFEE ¢ 75 X 5.0m 1 &
EFY 45wk
$75 3 =1
EFlZ2AUF | BEE
¢ 75 x00° 0.440 Li= 0.440 13
- EFEEAUE BAuR
P75 % 45° 0,380 L1= 0.760 p
 EFREEZEARUE BuE
b 75 % 90° 0.540 Li= 1.080 23
EFF—X(AEMZ) | BuE
@75%x75 0.350 Li= 0.350 13
- PERROFY IR —IUF | BEE
75 0.765 2= 1.530 2 &
VPRY7 M- LB A Bk A 55
® 75 13
HEmEREPVIa sk |
75 23




% a3
fedk-~Ti&

A

=]

FUFERY IR

D248 T

33

T FERYyIR

25B20

33

- EIERYSX

25C30

33

277

60

3 8




2 #

Mok - <tk

EE

EJ'IE

EE

B

RITFLUERAGT
$75

—

L=10.12 + 2.63

2L1=

12.750

12.8 m

PEREREL
275

T H
3

7 R

__ PEEEEST
(/e 75

Frd
2

4 EiFRT

_PEAAZJILHRFET |
75

20

BiFE D HILEET
®75

Ngl\)gmlﬂ_ﬂ]‘mm

20

TUIFsET

b 75

2 &

 VPHRFEIKEYIFERET

®75

Y-8

1 &

HEIFARYIA

~ H=900 (3&5700)

3 BT

— EREm

| —2FA4SA YA

147 m

EHFET-7
W=50mm

147 m

BKEERT

14.7 m




£ b
etk - ~Tik 5 i = E E = &t
= - S
2 -
ET8As ¢ 75 H=090 1.0+0.3+2.0+6.2 95 m
5
HEGra ¢ 75 H=0.60 4.4 44 m
6 |[Rbys—ER
BT38As ¢ 75 H=090 1.0 1.0 {EFT




YIETHE $75 HIVPRR)

[Ed H A iR
0 fF| H 4 Z 7)) FHEE | ZEE | K & |
b715 2. 750 0. 890 1. 000 4. 640 0. 360 1
@75 3.720 0. 900 4. 620 0. 380 i
7 bIvh

b 75 0. 500 0. 360 0. 860 4. 140 1
A%EE 2
7" VIV 1

= N=
B 10.120 4. 880 3




T TEEE

2 1=9.5m 5 L=4.4m 6 N=1.0EFh
W=0.50m W=0.50m W=1.20 X 1.50m
Z- R0} fedkatik | B anay| B B2y = |swmuy = &t oEf
As
SHEHIER T [t=10ecmEC| m | 2.000 19.00 3600 360 T 22.60 23
Co
HEEVIRT | t=10emET| m YT -
As
HERELT t=5¢m m2 | 0,500 4.75 “177.800 780 6.55 7
As
ShEEEEL T t=4cm m?2
Co
SEIELT t=10cm | m2 |4 T T T
HEAR AT m3 [ 0.520 494170385 1.74] 1.170 117 i 7.85 8
ANHIREIT m3 N N NEEN 078 E 078 1
ANERBLT m2 [T0.5000 . 4,75 6.500 2.20 TV 6.95 7
BE i
HE T 559%%=5v | m3 | 0.075 0.71 0.270 027 i (.98 1
FELT | m3 [ 0.250 2.38]0.389 1.71] 0.800 0.90 : 499 5
B m3 | 0.739 132 VT 0.603 0.60 i 1.92 2
As [
FRIRIMIE T m3 | 0.025 0.24 0.090 Q08| v TR 0.33] 0.3
Co
FRMET m3 TS N I R R e
BT m3 | 0.270 2.57| 0.006 0.03] 10530 705 ] 365 4
HiAs
HERERT t=5¢m m2 5 It O
BRAs | ¢+ I i
SEREINT +=5cm m2
= HiAs 1L 1
HEREHT t=dem | m2 | 0.500 4.75 1.800 1.80 6.55 7
mgRa | . 1y
AT t=1tcm [ m2 ["0.500 475 778060 180 6.55 7
%ll.sgn]ﬁ-ta ______________ I - N S
ﬁﬁ__g; t=15cm m2




IE4 PE ¢100 BRKEITE
EEZE
PE
b 100 L= 12.8m
% i
Bk Tk H =) = Bt 5 = B
-
FIERFAWERIFLUE
@ 100 12.750 12.8 m
EF IRK#HF
75 13
EF hfREfigE |
@ 100 2 3
EFT /LR
@ 100 x 45° 23
__EFTAR
¢ 100 % 90° 4
EF IR E (TS5 O f)
b 100 x 75 13
- YXEEE
SUS304 6 H
1715 LR
SUS304 2 #H
TEEHEIRA |
25 13




2 ¥

Fedk <tk S g 2 B B = 5
-
RUIFLoEREAT
¢ 100 TLi=  12.750 12.8 m
RUIFLUBEFRFET |
@ 100 8 O
ARYIFLUEEF#FT
75 18
AR -hENET HEEER
100 R ER
RILNERT i E I
®75 IR
 EEWAT —fEZEeE
6 {E R
FERFT TR LR
2 {EFR
ERHERET
¢ 25 1 &
= S
@ 100 10.7 m
BEHT
7.4%x54 =39.960 40 EEni
_avo)—+~T
18-8-40 (0.50 % 0.50~0.13172 x 3.14/4) x 2.19 =0.520 1 m3
__ HMBT 050x2.19x 2+(0.5% 05-0.131 2 X
PR T 3.14/4)x 2 =2 663 im
_ . BREET _|0.5x (0.90+0.91) =0.905 09 m
RC-40 0.50 x (0.90+0.91) X 0.15 =0.136 0.1 m°
_ AEEELT
V=0.50 X 0.30 X 0.35 X 2 =0.105 0.1 m®




TEL $20 #HWKERKIE
EEEE
PP
b 20 N= 15
% o
-
| PPEXRE1BARJIFLUE
@20 6.7 m
 DKRBEGEFHEL
¢ 100 x 20 14
PP (kK2 RD
¢ 20 2
L PPYHYRGERD)
& 20 20
TSHIVA vk
P13 13
PPIJHE ]
B 20 2 3
EfEdoKkE
$20x13 13
RY=RI8LT
& 20 10
 =KkE
b 13 10
HHBPARVIR
b 20 10




% i

2§53

R

_ HERRysR
DIGEEE T

13

_ AR3T

50 13




% M

ok - ~tix &t & = H
HF ®
| RYIFLUEBEREST
& 20 TLi= m
PPR#FET
@20 8 [
| BEE#MFET ]
TS ¢13 2 0
PERAXZ KRG
¢ 100 % 20 18
MK ERET
¢ 20 2 Efh
 BKEBRET
$13 REL
Ry HZAHFET
¢ 20 1 @
- HUIHARYSREEET
H=600 (& 5400) 1 {E T
B BERER -
=745 4 YU =& 6.7 m
__ EHERT-7
W=50mm 6.7 m




H 5
Fodk - <t ik -4 =
o T
m 3
BT3EAs $50ELTF H=090 4.0 40 m
7
| ENAs G50LLTF H=050 | 20 20 m




T T HEE
3 [=40m [ 7 [=20m
W=0.50m W=0.50m
& Fedk Tk | B weuy| B wmuy| 3 eyl B B lapsy B E (wwsy| B guuy ¥ B at HEt B E
As
ST |[t=10emET] m [ 2.000 8.00] 2660 4.00 ; 12.00 12
Co i
ST |t=10emET| m [ YT, o !
As
HEmELT t=5¢m m2 [ 0.560 500 500 2
As
HEWMELT t=4¢m m2 0.500 1,60 1.00 1
GCo
gEEEmEL T t=10cm m2 o ] TTTTTTYT -
AR T m3 | G505 5705 0530 ] I N I 548 9
ASREIT N D e e
ATEBLT m2 [ 0.500 2.00 | 0500 100 3.00 3
BE i o
BRI 4399%—=5 | m3 | 0.0/5 0.370.075 0.15 0.45 05
#EL | m3 | 02507 1.00]"6.100 .20 1 T 120 1
1 m3 | 01367 0.57 T e T 052 1
As
BMET m3 | 0.0257  0.1] 6.020 0.04 094 0.1
Co
FRIBAIE T m3 | T B !
BAMET m3 | 0.955 1.02] 0.130 0.96 T - ' 198 1
EMAS — ey i
HEREIRT t=5cm__| m2 i
O T Y D R Y e e '
fEEEIET t=5cm m2
E@As |} o |1
SERBEET | t=4em | m2 | 0500 2.00 | 0500 1.00 3.00 3
FrECr= =i A N N R R e e
BREET t=11om | m2 | 0.500 7.00] 0.500 1.00 3.00 3
FIERRR o I
ERAET t=15cm | m2 i : !




THEH SEAREAIE
BEELER
N= 15
£ o
Mpdk« <tk i % =y i 7 =% 5t
£ T .
HEFRAT AKp100 F¢75 H#K
As t=5¢cm 44385 + 655 + 2.00 = 452.40 452 m*
SEEHET oK
As t=4cm + 1,00 - 1.00 1 m?
HERBIEL
As t=4cm 45240 + 1.00 it = 45340 453 m?
T KB
TERYT (45340 - 1.00) x 0.01 = 4.524 5m’
| FEET 5 = 45340 453 m?
BiRoaT
As 45340 X 0.04 = 18.140 18 m®
 EiaaT
) = 4524 5m°
L mWET
As t=5cm 452 m”
BT ]
As t=4cm 1 m?




